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Sarvodya Sr. Sec. School, Khanpur Khurd (Jhajjar)

Summer Vacation Holiday Homework
Class - 5th (Coaching Class)

1. Write 100 to 300 numbers in Roman numerals (1 time)
2. Write and Learn 2 to 20 tables (2 times)
3. Write in words: - (In Indian system)
a) 6876004216 b) 387604709 c) 16452894
4. Write in words: - (In International system)
a) 1732485960 b) 909097600 c) 18765432
5. Write in figures: -
a) Six crore five lakh ninety.
b) Thirty lakh five hundred one.
c) Twenty crore one thousand one hundred.
d) Two billion six million four hundred eight.
e) Six hundred million two thousand six.
6. Add
a) 3847625,12005 and 19876240 b) 198427352, 3206145 and 234605892
7. Subtract: - 698754 from 8000000
8. Subtract: - 6035682 from 13024564
9. Multiply: -
a) 8283 by 1642 b) 61452 by 2091
10. Divide: - 6254807 by 287
11. Divide: - 8765421 by 98
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